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sordorkkok [ ZEFRRE ] wkkkokkk

No. 1 2 3 4 ait HIE

E F A WTFQ WTFQ WTFQ WTFQ WTFQ [=tia
1 BAtkE =|ih sk kokokok kkokk kkkk kkkk 200 1 P
2 FEE £ sk kdokk ok kefokk ekkk 200 1 P
3 k& 3 sk kokokok kkokok kkkk kkkk 200 1 P
4 ity = ®hokk ok 5 17
5 @I B % ok k skkkk dokkk dkkkk 16 6 P
6 HKH B Fokkk krk Rkkk krkk kkkk 20 1 P
1 iEE BB sk okkkk kkkk kkkk kkkk 19 5 P
Tt m% = 16
sordorkkok [ 3R B ] skokkokkork
NO. E F 4 1 2 3 4 5 &k
¥ H Waltz
1 BAkkZE F|ah 5 4 2 5 3 3.0
2 BE £ 3 2 4 1 2 20
3 ki B3 2 3 5 6 4 40
5 Il B 6 6 6 4 5 6.0
6 A B T 1 1 2 1 1.0
1 &% B 4 5 3 3 6 50
¥ H Tango
1 BAkkZE F|ah 4 4 2 5 2 4.0
2 BE £ 3 5 5 1 3 3.0
3 ki B3 1T 1 3 2 4 1.5
5 Il B 5 6 6 6 5 6.0
6 HHE B 2 3 1 4 1 1.5
1 &% B 6 2 4 3 6 50
i H Fox trot
1 BAkkZE F|ah 4 5 3 6 2 50
2 BE £ 2 3 4 1 3 20
3 ki B 1 4 5 4 4 4.0
5 Il B 6 6 6 5 5 6.0
6 A B 3 1 2 2 1 1.0
1 &% B 5 2 1 3 6 30
i B Quick step
1 BAkkZE F|ah 5 3 2 5 1 35
2 BE £ 2 5 5 1 3 35
3 ki B3 1T 1 4 2 4 1.0
5 Il B 6 6 6 6 6 6.0
6 HHE B 3 2 1 4 2 20
1 &% B 4 4 3 3 5 50
i B V.waltz
1 BAkkZE F|ah 2 5 2 5 2 30
2 BE £ 6 4 5 3 4 50
3 ki B3 1 2 4 2 3 20
5 Il B 5 6 6 6 5 6.0
6 A B 3 1 3 1 1 1.0
1 &% B 4 3 1 4 6 4.0
RERER
No. #E F 4 W T F Q V A&t
1 BAHkZE F|ih 3.0 40 50 3.5 3.0 18.5
2 BE = 2.0 3.0 2.0 3.5 5.0 15.5
3 kB B3 40 1.5 40 1.0 2.0 12.5
5wl B 6.0 6.0 6.0 6.0 6.0 30.0
6 HHE B 1.0 1.5 1.0 2.0 1.0 6.5
1 £k B 5,0 5.0 3.0 5.0 4.0 22.0
1 B8 =B
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